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Task 4. Farmers Market Task

The local farmers market sells 6 ears of corn for $3. Anna often buys ears of corn there for her
restaurant. She correctly writes the equation y = 2x to help her solve problems involving buying

ears of corn at the market.

a. Explain what the 2, x and y mean in Anna’s equation in the context of the problem.
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b.

Anna plans to use her equation y = 2x to determine the cost of buying 60 ears of corn.

What equation will Anna solve? Explain your reasoning in words.
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4. The Farmers Market Task Scoring Guide

The CCSS for Mathematical Content (2 points)

7.EE.4

The student identifies the 2 as the number of ears that can be bought for $1 and
the y as the number of ears that can be bought for x dollars.

7.RP.2c The student writes equations that use scaling or unit rate, e.g., if 6 x 10 = 60 then 3

x 10 = 30, the cost of the corn, or writes 60 = 2x, % = X.

Total Content Points

The CCSS for Mathematical Practices (4 points)

MP1

MP2

MP3

MP7

The student completes both parts of the task and explains the reasoning used.
(MP1: Make sense of problems and persevere in solving them.)
The student abstracts the data from the context, correctly noting the meaning of

the 2 in the context of the problem and the meaning of the 60 with respect to the
equation.

(MP2: Reason abstractly and quantitatively.)
The student provides a clear and logical explanation explaining why 60 = 2x is the

correct formulation of the equation Anna will solve to find the cost of 60 ears of
corn.

(MP3: Construct viable arguments and critique the reasoning of others.)

Work specifically indicates that the student understands the multiplicative
relationship that underlies ratio and proportional relationships.

(MP7: Look for and make use of structure.)

Total Practice Points

Total Awarded Points
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The CCSS for Mathematical Content Addressed in This Task

Analyze proportional relationships and use them to solve real-world and mathematical
problems.

Recognize and represent proportional relationships between quantities.
7.RP.2c  Represent proportional relationships by equations.

Solve real-life and mathematical problems using numerical and algebraic expressions

and equations.

7.EE.4 Use variables to represent quantities in a real-world or mathematical problem, and
construct simple equations and inequalities to solve problems by reasoning about the
quantities.

The CCSS for Mathematical Practices*

1. Make sense of problems and persevere in solving them.
2. Reason abstractly and quantitatively.

3. Construct viable arguments and critique the reasoning of others.

7. Look for and make use of structure.

*Gray text indicates Mathematical Practices not addressed in this task.

Students' responses to a mathematical task provide evidence of what they understand and are
able to do in relation to the standards and practices. Across tasks, this cumulative evidence
shows students' understanding and abilities within a domain. When students do not respond
completely to all parts of a task, they provide insufficient evidence of their mathematical
understanding and abilities and therefore do not fully demonstrate the expectations of the
standards and practices aligned with that task.
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" ' : Guide 1
‘Task 4. Farmers Market Task ~ “ _
The local farmers market sells 6 ears of corn for $3. Anna often buys ears of corn there for her

restaurant. She correctly wntes the equatlon y= 2x to help her solve problems mvolvmg buyang .
ears of corn at the market. _ -

a. Explain what the 2, x and 'y meén in Anna’s equation in the context of the problem.
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b ‘Anna plans to use her edu‘ation ¥ = 2x to determine the cost of buying :60 ears of corn.
What equation will Anna solve? Explain your reasoning in words.
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Guide 1 Litho 70039
Total Content Points: 2 (7.EE.4, 7.RP.2¢)
Total Practice Points: 4 (MP1, MP2, MP3, MP7)

This response identifies the meaning of x and y, and the meaning of the 2 in terms of the
relationship between quantity of corn and price ("you double the price to equal the
number of ears of corn") (7.EE.4). The student also indicates the equations that Anna will
solve (7.RP.2c) and has provided a logical explanation by appropriately associating the
variables with words (MP3). Both parts of the task have been completed successfully
with reasoning as required (MP1). By recognizing the meaning of the 2 and by correctly
using the 60 in the equation, the student has successfully abstracted the data from the
context (MP2). The student has indicated an understanding of the multiplicative
relationship underlying proportional relationships in the equations shown and in the
explanation in part a (MP7).

Total Awarded Points: 6 out of 6
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Guid-e._z__ |
Task 4 Farmers Market Task : E

The Iocal farmers market sells 6 ears of com for $3. Anna often buys ears of corn there for her
restaurant. She correctly wntes the equatlon y= 2x to help her solve problems mvolwng buymg _
ears of corn at the market. : :

a. E_xp_lain what}he 2,x énd y mean in Anna’s"equation in the context of the problem.
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b. Anna plans to use her equation y = 2x to determine the cost of buying 60 ears of com.
What equation will Anna solve? Explain your reasoning in words. -
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Guide 2 Litho 70262
Total Content Points: 2 (7.EE.4, 7.RP.2¢)
Total Practice Points: 4 (MP1, MP2, MP3, MP7)

This response identifies the meaning of x and y, and the meaning of the 2 in terms of the
relationship between quantity of corn and price ("the number of ears of corn is twice the
cost") (7.EE.4). The student also indicates the equations that Anna will solve (7.RP.2c)
and has provided a logical explanation by appropriately associating the variables with
words (MP3). Both parts of the task have been completed successfully with reasoning as
required (MP1). By recognizing the meaning of the 2 and by correctly using the 60 in the
equation, the student has successfully abstracted the data from the context (MP2). The
student has indicated an understanding of the multiplicative relationship underlying
proportional relationships in the explanation given as well as an understanding of the
equation provided (MP7).

Total Awarded Points: 6 out of 6
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~ Task 4. Férmers Market Task
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- Guide 3

The local farmers market sells 6 ears of corn for $3. Amaawﬁemhgyggamﬁsem—them-fer-hér
-;em‘raﬁ! She correctly writes the equatlon y= 2x to help her solve prob!ems mvolvmg buymg
ears of com at the market. : ‘ Sl

‘a. Explam what the 2, x and y mean in Anna’s equation |n the context of the problem
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Anna plans to use her equatlon y=2xto determine the cost of buying 60 ears of corn.
What equatlon will Anna solve'? Explain your reasonmg in words. P =
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Guide 3 Litho 70310
Total Content Points: 2 (7.EE.4, 7.RP.2¢)
Total Practice Points: 4 (MP1, MP2, MP3, MP7)

This response identifies the meaning of x and y, and the meaning of the 2 in terms of the

relationship between quantity of corn and price ("2 = how much to mutiply by") (7.EE.4).

The student also indicates the equations that Anna will solve (7.RP.2c). The student has
completed both parts of the task, and explained the reasoning used (MP1). By
recognizing the meaning of the 2 and by correctly using the 60 in the equation, the
student has successfully abstracted the data from the context (MP2). The definitions
provided in part a provide a logical explanation to why "60 = 2x" is the correct
formulation (MP3). The student has indicated an understanding of the multiplicative
relationship underlying proportional relationships through the explanations and equations
provided (MP7).

Total Awarded Points: 6 out of 6
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Task 4. Farmers Market Task

.":-;j__-Gui-de 4

The local farmers market sells 6 ears .of comn for $3. Anna often buys ears of corn there for her
restaurant. She correctly writes the equatnon ys= 2x to help her solve problems mvolvmg buying
ears of corn at the market. : :

a.

b.

Explaln what the 2, xand y mean. in Anna s equatlon in the context of the problem

Anna plans to use her equatlon y= 2x to determine the cost of buying 60 ears of corn.
What equatlon will Anna sol\re‘7 Explam your reasonmg in words
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Guide 4 Litho 70320
Total Content Points: 1 (7.RP.2¢)
Total Practice Points: 3 (MP2, MP3, MP7)

This student explains the meaning of 2 in the given equation, but does not clearly identify
the meaning of x and y (no credit for 7.EE.4). The equation in part b is written correctly
and the second step (solving for x) is implied by the correct answer (7.RP.2c). Although
the explanation given in part b is sufficient for part b, the student has not completed part a
of the task (no credit for MP1). The meaning of the 2 is recognized in the context of the
problem as well as the meaning of the 60 with respect to the equation in part b, so the
student has demonstrated the ability to reason quantitatively and abstractly (MP2). The
student has given an explanation in part b that is sufficient to explain the correct
formulation of the equation (MP3). By replacing y with 60, and dividing the number of
ears of corn by two to get the price, a specific understanding of the proportional
relationship between ears of corn and price is indicated (MP7).

Total Awarded Points: 4 out of 6
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Guide 5

Task 4. Farmers Market Task

The local farmers rrtarket sells 6 ears of corn for $3. Ahna'oﬂen buys ears of corn there for her
restaurant -She correctly writes the equatlon y= 2x to help her solve problems mvolvmg buying
ears of corn at the market. ~ - N ‘

a. Explam what the 2, x and y mean in Anna's equation ini the context of the problem
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b. Ann_'a plans to use her equation y = 2x to determiné_ the cost of buying 60 ears of corp.
What equation will Anna solve? Explain your reaSOning in words,
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Guide 5 Litho 70213
Total Content Points: 1 (7.EE.4)
Total Practice Points: 2 (MP2, MP7)

This response identifies the meaning of 2 as the number of ears that can be bought for $1
and also correctly identifies x and y (7.EE.4). The student’s reasoning in words in part b
is an explanation of the process to arrive at $30 rather than a clear explanation relating
quantity of corn with cost, and she fails to give the correct form of the equation (no credit
for 7.RP.2c). Because she fails to give the correct equation to be solved in part b, the
student has not correctly responded to all parts of the task (no credit for MP1). However,
the student’s two equations together are sufficient to correctly note the meaning of 60 and
the correct identification of 2 has already been noted (MP2). The explanation in part b is
insufficient (no credit for MP3). The student’s clear definition of 2 in part a specifically
indicates an understanding of the proportional relationship between ears of corn and cost
(MP7).

Total Awarded Points: 3 out of 6
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Task 4. Farmers Market Task’

The local farmers market sells 6 ears of corn for $3. Anna often buys ears of corn there for her
restaurant She correctly wntes the equatlon y= 2x to help her solve prob!ems mvolvmg buymg '
ears of corn at the market. : '

a. Explain what the 2, x and y mean in Anna’s equation in the context of the problem.

.Guide 6
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b. . Anna plans to use her equatlon y=2xto determlne the cost of buymg 60 ears of corn.

‘What equation will Anna:solve? Explain your reasonmg in words.
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Guide 6 Litho 70073
Total Content Points: 1 (7.RP.2¢)
Total Practice Points: 1 (MP7)

In part a of this response, the explanation of the meaning of the 2 is insufficient. It is not
separated from the x (cost of y number of ears of corn) (no credit for 7.EE.4). The student
writes the equations that Anna will solve to determine cost and is able to use the correct
equation to demonstrate the price (7.RP.2c). The lack of an acceptable explanation in part
a means that not all parts of the task are appropriately addressed (no credit for MP1).
There is no clear explanation of the meaning of 2 in the context of the task (no credit for
MP2), and the student does not provide enough of an explanation for why the correct
equation in part b was selected (no credit for MP3). However, the work in part b is
sufficient to demonstrate an understanding of the multiplicative nature of proportional
relationships (MP7).

Total Awarded Points: 2 out of 6
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) Guide 7
. Task 4. Farmers Market Task :

 The local farmers market sells 6 ears of com for $3 Anna often buys ears of corn there for her
- restaurant. - She correctly writes the equation y = 2x to help her solve problems mvol\nng buying -
ears of corn at the market.

.' é. Explain-what the 2, xandy mean in Anna's e’t;uation in the context of thé_"problem.
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o b.. Anna pIans to use her equation y 2xto determlne the cost of buying 60 ears of corn.
What equation will Anna solve? Explaln your reasomng in words
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Guide 7 Litho 70031
Total Content Points: 0
Total Practice Points: 1 (MP3)

The explanation that the student provides for the meaning of the 2 in the equation does
not relate the two variables in the equation (no credit for 7.EE.4). The student has not
substituted the known factor into the given equation in part b, and has not stated the
proper equation for Anna to solve (no credit for 7.RP.2c). Both parts of the task have not
been appropriately addressed (no credit for MP1). Although the 60 is not placed in the
equation in part b, the student offers a logical explanation in words, clearly and correctly
relating the variables (MP3). The student has not successfully related the given
multiplicative relationship to a ratio or proportional relationship (no credit for MP7).

Total Awarded Points: 1 out of 6
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| Guide 8
Task 4. Farmers Market Task
The local farmers market sells 6 ears of corn for $3. Anna often buys ears of corn there for her
restaurant. She correctly writes the equatuon y=2x to help her solve problems mvol\nng buymg
ears of corn at the market.

a. - Explain what the 2, x and y mean in Anna’s equation in the context of the problem.
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b. Anna p!ans to use her equatlon y = 2x to determine the cost of buying 60 ears of corn.
~ What equation will Anna solve? Explarn your reasomng in words ‘

[yt Bt s an s, e

<o fr _%ua‘i{sn :f JaU _.!:.ug &,1\;“@3

ﬂ“’h “1’ \JJ flc b
< f/' (00 —&6{(‘8 _p
o ﬁ 30

REVIEW YOUR
- - R WORK IF YOU
Page 10 . HAVE TIME.
Litho#: 70026 Page 19




Guide 8 Litho 70026
Total Content Points: 0
Total Practice Points: 1 (MP7)

The work in part a correctly identifies the meaning of 2 but not x or y (no credit for
7.EE.4). The correct equation is not given in part b, so although the student uses some
correct logic, he has not demonstrated equations that make use of scaling or unit rate (no
credit for 7.RP.2¢). The student has not appropriately responded to both parts of the task
(no credit for MP1). Although the response indicates that the student understands the
meaning of the 2 in the given equation, the lack of a correct equation in part b does not
demonstrate understanding of how to place the 60 into context (no credit for MP2). The
explanations given are insufficient to explain how to use the given equation to find the
cost of y ears of corn (no credit for MP3). However, the work that is shown indicates an
understanding of the multiplicative nature of ratio and proportional relationships (MP7).

Total Awarded Points: 1 out of 6
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Task 4. Farmers Market Task

Guide 9

The Iocal farmers market sells 6 ears of corn for $3. Anna often buys ears of corn there for her
restaurant. She correctly writes the equation y = 2x to help her solve problems Involvmg buymg
ears of corn at the market. - " : TE

Explaln what the 2, x and y mean in Anna’s equation in the context of the problem.
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b. Anna plans to use her equatlon y=2xto deten'nlne the cost of buying 60 ears of corn.
What equation wall Anna solve‘? Explain your reasonmg |n words.
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Guide 9 Litho 70105
Total Content Points: 0
Total Practice Points: 1 (MP3)

The student correctly identifies y and x in the equation, but the identification of the 2 is
incorrect (no credit for 7.EE.4). In part b only the correct equation 60 = 2x is provided,
without an explanation or the next step in solving the problem. The student does not
demonstrate the use of scaling or of unit rate (no credit for 7.RP.2¢). The student does not
appropriately address both parts of the task (no credit for MP1). The student has
incorrectly identified the meaning of the 2 in the original equation, which demonstrates a
lack of understanding of the context of the problem (no credit for MP2). However, the
student provides a logical explanation as to why the formulation is the correct one to use
to solve for the cost of the corn (MP3). The student does not show any work, or explain
the multiplicative relationship underlying the relationship between y number of ears of
corn and the price x (no credit for MP7).

Total Awarded Points: 1 out of 6
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Task 4. Farmers Market Task

' Guide 10

The local farmers market sells 6 ears of corn for $3. Anna often buys earé of corn there for her
restaurant She correctly writes the equatlon y=2xto help her solve problems lnvolvmg buylng
ears of com at the market : : :

a.

b.

Explam what the 2, x and y mean in Anna s equatlon in the context of the problem
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Anna plans to use her equatlon y = 2x to determine the cost of buyrng 60 ears of corn
What equatron will Anna solve? Explaln your reasoning in words.
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Guide 10 Litho 70042
Total Content Points: 0
Total Practice Points: 0

The student does not correctly identify x, y, or 2 in the context of the task (no credit for
7.EE.4). The student does not give a correct equation or adequately explain a relationship
that uses scaling in part b (no credit for 7.RP.2¢). The student does not appropriately
address both parts of the task (no credit for MP1). The incorrect identification of the
variables in the original equation demonstrates a lack of conceptual understanding of the
problem (no credit for MP2). Although the student appears to show some understanding
of the correct process of solving the equation given, her explanation is too imprecise to
clearly explain what the correct equation would be (no credit for MP3). The incorrect
identifications in part a and the general explanation in part b do not sufficiently
demonstrate an understanding of ratio and proportional relationships (no credit for MP7).

Total Awarded Points: 0 out of 6
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Task 4. Farmers Mérket Task

ears of comn at the market

Gu_i'dé 11

The local farmers market sells 6 ears of corn for $3, Anna often buys ears of corn ) there for her
restaurant. She correctly writes the equatlon y 2xto help her solve problems 1nvo!vmg buying

a. Explam what the 2, x and y mean in Anna’s equation in the context df-'t'he 'prob[em.
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What equation will Anna solve? Explain your reasoning in words.

b. . Anna plans to-.'_u':sé her equation y =2xto determine the cost of buying 60 ears of corn. -
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Guide 11 Litho 70285
Total Content Points: 0
Total Practice Points: 0

The student incorrectly identifies the 2 and the variables in the original equation (no
credit for 7.EE.4). The student sets up y = 2x as the equation that Anna will solve, but
incorrectly calculates the problem to find "y = 30$" (no credit for 7.RP.2¢). The
confusion of the variables representing the cost and the number of ears of corn bought in
part b along with the lack of clarity in the explanation in part a demonstrate a lack of
understanding of the task (no credit for MP1). The student uses y = cost in the equation,
and is not consistent in her approach in parts a and b, and therefore she does not
demonstrate an ability to reason abstractly and quantitatively (no credit for MP2). The
verbal explanation given shows some understanding of the proper approach to the
problem, but it not does not match the student's incorrect calculations in part b (no credit
for MP3). The response as a whole is too inconsistent to indicate an understanding of
ratio and proportional relationships (no credit for MP7).

Total Awarded Points: 0 out of 6
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Task 4. Farmers Market Task 'Gulde 12

The local farmers. market sells 6 ears of corn for $3 Anna often buys ears of corn there for her’
restaurant. She correctly writes the equatlon y= 2x to help her solve problems mvolv:ng buylng
ears of corn at the market.

a. Explaln what the 2 b and y mean in Anna S equat:on in the context of the prob]em
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b. Anna plans to use her equatlon y= 2x to deterrnlne the cost of buylng 60 ears of com.
What equation will Anna solve? Explaln your reasoning in words. - '
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Guide 12 Litho 70190
Total Content Points: 0
Total Practice Points: 0

In this response, x, y, and 2 are incorrectly identified (no credit for 7.EE.4). There is no
equation or explanation given in part b to place the 60 in the context of the given
equation (no credit for 7.RP.2c). The student has not responded appropriately to both
parts of the task (no credit for MP1). The student has not correctly noted the meaning of 2
in the variable equation, nor shown an understanding of how to place the 60 into context
in part b (no credit for MP2). There is no explanation of the proper equation for Anna to
solve (no credit for MP3), and there is no work showing that the student understands the
multiplicative relationship that underlies ratio and proportional relationships (no credit
for MP7).

Total Awarded Points: 0 out of 6
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